AH-1209 CV-19-S

B.A./B.Sc. (Part-Ill)
Term End Examination, 2019-20
MATHEMATICS
Paper-I
Time : Three Hours) [Maximum Marks: 50
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Note : Answer two questions from each units.
P18 / Unit-l

1. (@) ot & R RReee &1 wum faRay v fig AR
State and prove divichlet’s test for series.
(b) T &7 YT T F@UA I g R e D g
f(xy) = x?y? + sinx + cos y & fRw #ifRY |
Verify the young’s theorem at origin for the function f(xy) = x2y? + sin x + cos y #fow |
(Qwe f(xy) =x2 —n < x < n? forg BRI S s Ffg va

w2 1 1 1
sﬂﬁaﬁﬁml—z_ l-steg—wtg ——————
Sind the series of the function
f(xy) =x? —n < x <n hence deduce that

Z&TS / Unit-Il
2-(a)aflk f,g;[ab] > R W WReg waa 3R P afevra [ab] # o fwom € @ fig P
L(P f +g) =2 L(pf) + L(pg)
UP f+g) <Uf)+U(pg)
Let f, g [ab] = Rbc bounded and P be any partition of [ab]then
LP.f +g) = L(pf) + U(pg)
UPf+g)<U@f)+U(pg)
(b) fg @MY Prove that

Ifn—H>0{—1---+-1—+L +$}=logZ

n+1 n+2 n+3
(c) =1 T @1 IFrIRaT &1 gerT B |

Examine convergency of the following integral.
1 dx
fo x1/2(1-x)1/3

P13 / Unit-lll
3- (a) Rrg #IfmT 5 Brger a1 dawar R A fawg)
Zy, Zz' Zl3g Z 92—:52)# ET”T

; ; . . (22-23)|24|2
Prose that the area of triangle where vertices are 2y, 2, Z13 IS y =21 41_32' el
1

(b) At u = (x — 1)® — 3xy? + 3y2a v od AN FafF u + iv, x + iy & Fafg o= 2
If u = (x — 1)* — 3xy? + 32 Then determine v so that U + iV is regular function of X + iy

(c) fer g sTa PIRY vd RRIRGT TR BT TAMRI WY AT BT |

Find fixed point and the normal form of the binear transformation

3z-4
W= z-1
B8 / Unit-IV
4- (a) W ol 4 A Hqd Mad Hga aqed 8T 8 |
In a metric space every closed sphere is closed set.
(b) W WAk # U® AHER ITH FTEN ITHH BT ¥ Wb 3D A wed 7T |
In a metric space every convergent sequence is Cauchy sequence but converse is not true.
(c) oA sl o1 wq=aa sfaa g ey =8 2|
The set of rational numbers is not complete order.
I / Unit-v
5- (a) oI PIRSTY 7 IQTER0T IHY FHETSY |
1. HuE Wl 2. YRS ST WEd 3. $El W Qe e
Define & explain with example.
1- Dense 2- Every wore dense 3- Nowhere dense

(b) W% 9% Wi wem T & g ST

Prove that every metric space is first countable
(c) fig #IvT 0 wafe @1 Sqfad STaqwd 98 U4 aReg 8T 2

Prove that a compact subset of Metric Space is closed and bounded.



